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QUESTION 1

Which statement is true regarding Symptoms? (Choose the best answer.) 

A. No Symptoms can be included in an Alert Definition 

B. Multiple Symptoms can be included in an Alert Definition 

C. Symptoms can only be related to the object defined in the Alert Definition 

D. Symptoms can be nested 

Correct Answer: C 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-7603DF81-F9A8-45FC-B0A8-3EB798EB74FB.html 

 

QUESTION 2

The Action "Delete Unused Snapshots for VM" can be run from which objects? (Choose the best answer.) 

A. Virtual Machines and Datastores 

B. Clusters, Datastores, and Host Systems 

C. Datastores, Hosts, and Virtual Machines 

D. Clusters, Host Systems, and Virtual Machines 

Correct Answer: A 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/6.5/com.vmware.vcom.core.doc/ GUID-
F4A8A668-733D-4F82-AADF-0419497F8312.html 

 

QUESTION 3

When high availability (HA) is enabled, each object is replicated in one of the nodes of a cluster. 

As compared to a non-HA configuration, what is the limit of objects for an HA-based environment? 

A. Double 

B. One-third 

C. Half 

D. The same 

Correct Answer: C 

Reference: https://kb.vmware.com/s/article/2150421 
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QUESTION 4

Which statement is true about the Density badge? (Choose the best answer.) 

A. The Density badge considers CPU only 

B. The Density badge considers CPU, memory and storage only 

C. The Density badge considers CPU and memory only 

D. The Density badge considers memory only 

Correct Answer: C 

Reference https://blogs.vmware.com/management/2015/05/understanding-density-badge-vrealizeoperations-tech-
tips-14.html 

 

QUESTION 5

A user is attempting to troubleshoot a cluster the predefined dashboards. 

Which dashboard provides information about the virtual machines that generated the highest IOPS and 

network throughput during the last week for a given cluster? (Choose the best answer.) 

A. VM Usage dashboard 

B. VM Configuration dashboard 

C. Heavy Hitter VMs dashboard 

D. Troubleshoot a VM dashboard 

Correct Answer: C 

Reference https://docs.vmware.com/en/vRealize-Operations-Manager/6.4/com.vmware.vcom.core.doc/
GUID-76324E51-606A-4D13-A84D-0517F34823AA.html 
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